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I'm working in two columns to get as much as possible on one page. This is not the way to do
homework. On homework, you (should) have at least two pages (Usually the computer and your
paper) working at all times. The one you're reading and the one you're writing.
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This is the rabbit hole I went down when I was stuck on a 24-hour period for tides.

Note that the book's .503 would be more like .524 if it were exactly a 12-hour "period of oscillation."
The reason it isn't is because the Moon is always trying to escape our day time hours. Slowly
pulling ahead over time, because the earth's rotation lags behind it and it's not just sitting still.
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Far-northern latitudes apparently have the highest highs and the lowest lows.

Must diminish as you get closer to the equator?
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